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date ~7:00 7:00~10:00 10:00~16:00 16:00~21:00 21:00~ day Weather_morning Weather_lunch Weather_afternoon
2022/1/12 10 10 10 0 60 Wed i i i
2022/1/11 0 10 0 10 10 Tue 55 55 5§
2022/1/10 0 0 0 0 10 Mon = = 2
2022/1/9 0 10 10 0 10 Sun & 5 5
2022/1/8 0 0 0 0 0 Sat & & 5
2022/1/7 0 20 10 0 10 Fri & 5 5
2022/1/6 0 0 0 10 20 Thu = 5 ES
2022/1/5 0 0 0 0 0 Wed B 5 5
2022/1/4 0 0 0 10 0 Tue B 5 5
2022/1/3 0 0 0 10 0 Mon 5 & 5
2022/1/2 0 0 0 10 0 Sun = 5 5
2022/1/1 20 20 20 0 10 Sat i & 5

e B2 7 ILEL58(E
e ~7:00,7:00~10:001 81, 10:00~16:001'&. 16:00~21:00,21:00~H&
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10:00~16:00 <= 50.5

£ 53

10:00~16:00 <= 25.0

gini = 0.855 gini = 0.521
samples = 46 samples = 52
value =[6, 6,7, 8,7, 6, 6] value =[31, 18, 3]
class = Sun class = Sunny
True False True \=‘alse
10:00-16:00 == 35.0 gini = 0.64 10:00~16:00 <= 5 0) (10:00~16:00 <=55.0
sglr?':p_leDSEEéI ; samples = 5 gini = 0.454 gini = 0.611
value =[4,4,7,7.7,6,6] | | Vaue=1220.1.0.0.0] samples = 40 samples = 12
class = Sat class = Thu value = [27 12, 1] value =[4, 6, 2]
/ class = Sunny S class = Cloudy )
10:00~16:00 <= 15.0 T
gini = 0.852 Ak, —— 1000-16.00 =150 (1000~16:00 <=35.0) oo
samples = 3 ini=0.5 ini=0.0
samples = 38 = i g = ini = 0.44 ini = 0.595 9 =
value =[0,0,0, 1,2, 0, 0] les=4 9 9 les =1
value = [4, 4, 7, 6, 5, 6, 6] -10.0.0.1,2.0, § ;3212 ?29 p . s = samples = 11 y aslzr:g ?15 5 0
class = Sat class = Sunn value = [25, 10, 1] value =3, 6, 2] class = Sunn
/ \ Y class = Sunny _ class = Cloudy ) J
10:00~16:00<=5.0 ) (  10:00~16:00 <= 25.0
gini = 0.803 gini = 0.825 T
samples = 17 samples = 21 gini = 0. 391 gini = 0 472 gini = 048 10.00in1i E%OG?TI 45.0
value=[1,1,2,53,1,4] | |value=[33 51,25 2] samples = 15 samples = 21 samples =5 sgam les = 6
class = Sun J class = Sat J value =[11,4,0] | | value =[14, 6, 1] value = [2, 3, 0] el [.3 2]
/ \ class = Sunny class = Sunny class = Cloudy class = Cioudy
y
gini=0.75 gini = 0.793 N gini = 0.776 ! gini = 0.776 / \
samples =4 samples =13 samples =14 samples =7
value =[1,0,0,1,1,0, 1] value =[0,1, 2,4, 2,1, 3] value =[3,1,4,1,1,4,0] value =[0,2,1,0,1,1, 2] gini = 0.64 gini = 0.0
class = Thu class = Sun ) class = Sat class = Fri samples = 5 samples = 1
value =[1, 2, 2] value = [0, 1, 0]
class = Cloudy class = Cloudy
p— /_ \\ \ N P AR N
\ ~
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- true = LA, false=L}U:
- valueD1E =[0,1,2,4,2,1,3]
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10:00~16:00 <= 16,0
gini=0852

value = |7 7 7.5,56,
= Wed

s
= 636025
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o -n.aw muu umnv:su |uun TE 56D
..u..,[.')"'i"ﬁdw 0.0 v-us [1 2 A, a 2 1.7 “""P""23 05“
Lede bl e =[5 3 £.0.0.5.6] -[suou.zuq

\

gn zeay
sa
Mun-’z 2 3 U U 5.8]
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T

samples =5
value =[1,1,3,0,0.0,0)
class = Sat

gin = 0.625

samples =4
value=(2,0,0.0.1,0 1]
S = hi
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samples = 52
valus =[8, 6, 7,8, 8, 7. 8]
class = Thu

7:00~10:00 <= 5.0 7:00~10:
gini = 0.843 gini =
samples = 39 samples = 11
value =[8. 5,4, 6,8 3,5 value =[0,1,1,2.0,4. 3]
class = Thu class = Tue
gini=05 gml 0.694
samples =4 samples = 7
32 value = [uou*oza] value = |u110023]
class=Thu class = Sun class = Wed
gini=0.793 gini = 0.667
samples = 13 samples = 3
value = [4,0‘ 1,1.3,2.2] | [value=T1, 1 0,0.1,0,0]
=Thu class = Thu

?oo-md\:lfnsu ]

valu = lf‘“”“”’

?w—m«k 350 AT =0 )
i = LTSy

[;1 nn n 1 u] valua = [1‘1,1‘n,a‘n, :|

ﬁ—f

700 <= 150

gini = 0625
valua =10, 1, 1,0.0,0,2)
- :

FIREN =TT TR =ED
‘T 5 e ’”

Ry 7uu 1000 - : 700-1000 =505 )
TR o M gini=D5.
samp
vaiue = {1 '“‘7“”] vlluc-[U1|UU]|] vl\w-[\U\ [

clss = Th

[ ’- on -«-nn1 =
vlluul|UU|UUU|\ m‘a“.q'.':’ﬁ"”'m m-LE!,&qmm]




£ %%

- FEERE B (10E~168F)

samples = 22
=[31,5.3,3.1,8]
class = Wed

class = Fri

10:00-16.00 <= 35.0
gini =0.818

10:00~16:00 <= 60.5

10:00~16:00 <= 16.0
2 gini =0.765

gini =

« SREDIELEHNZ
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samples = 9
value=[1,3,1,2,0,0,2]
class = Fri

samples = 1
value =[3,3,2.1,3,3,0]
class = Thu

samples = 20
valus =[3, 0,4, 3,3, 1, 6]
class = Wed

glnl = 0 791 gini = 081 gini=0.776
samy samples = 11 z = <amy
value = [0, 0, \,awa,[;\. 0.4.1.1_1.3] value = [" 2 2 1 3,1.0) - value =[1,
e ed” value =[1.1, 0, 0,0, 2, 0] 0.2

class = Tue

10:00~16:00 <= 55.5

gini
sample
value =[6, 7,8, 8.5.7. 5]
class = Sat

- REMRE B (10FF~16HF)

— E 10:00~16:00 <= 15.0 |0.1)O~|6:00 <=40.0
° O) L \ gini = 0.848 0625
— 7'< samples = 41 SIH s =4
value = [5.5.5,7,5,7,4) | | value = [0, 2, 5.1.0,0, 1]
class = Sat class = Fri

SEEBAEEMICDENT EADD B

samples = 35
value =3, 5, 8. 6,4,6,3]
class = Sat
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~7:00 <= 15.0

value = (30,17, 3]
y

class = Sunn;

7:00~10:00 <= 5.0
i .569

gini
samples = 12
value =[5, 6, 1]
class = Cloudy

S 155
class [-n'SmnyZI

gini = 0.375 ghi=0504
= samples = ¥ 100 <=
value =[1. 3, 0] value =[4,3,1) 1n.oo~1soos<“15,o
class = Cloudy | | class = Sunny X

samples = 32
value = [17, 13, 2]
class = Sunny
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EEIRNICENhDOIREOT—25% 0
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[gr«-mﬁsz] { i = 0528 J [ G =05 [w-m}
samplos = 13 samplos = 17 snmphi:EJ samgles =3

value = (787 | | value =[10,6.1] | | vaae o (6 4.0] | | value=[2. 1.0
o

=[7.4.
‘clas = Sunry clas = Sy clazs = Sty
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~700<=50

7:00~10:00 <= 25.0

gini=0418 gini = 0.524
samples = 37 samples = 15

value =[27, 8, 2] value =[5, 9, 1]
class = Sunny class = Cloudy

7:00~10:00 <= 505
gini = 0.611
samples = 6

class = Sunny

7:00~10:00 <=5.0 ~T.00<=50
gini = 0.461 gm-usda
sample:
value =[22, 8, 2] valua [2 T 0]
class = Sunny cluss Cloudy
¥
gini = 0.423 glnl 04&4 glnl =0. 444 gini = 0.0
samples = 23 mple: samples =3
value = [16, 7. 0] valua-[ﬁ 1, 2] S 2.4, 0] value = [0, 3, 0]
class = Sunny class = Sunny class = Cloudy | | class = Cloudy

7:00-1000 <= 36,0\ [ ~7:00 <= 20.0
gini = 0.375 gini=05
samples = 4 samples = 2

value =3, 1, 0] value = [0, 1,1]
class = Sunny class = Cloudy

10:00~16:00 <= 25.0
glnl 0. 521

mples
e [31 1s 3]
class = Sunny

10:00~16:00 <= 5.0

gini 54
sample:

value = [27, 12, 1]
class = Sunny

10:00~ 16'00 <- 55.0

gini =
samples 12
value = 2]
class = Claudy

samples = 36
value =25, 10, 1]
class = Sunny

class = Sunny

2]
e Cloudy class = Sunny

l

gini = 0.391 gini = 0472
samples = 15 samples = 21
value =[11, 4, 0] value = [14, 6, 1]
class = Sunny class = Sunny

L2008, gini=0.611
dlue = [2.3, 0] GRLREC!
Jiold value =1, 3, 2]

class = Cloudy

10:00~16:00 <= 45.0

class = Cloudy

gini= 0.64
samples
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(2180~ <= 188 )
gini = 0511
samples = 52
valus =[32, 17. 3]
class = Sunny )
True False
N
Y
T500-21:00-=5.0 1600-2100 =50
gini=04 gini=0571
=amples = 38 somples = 14
value =28, 8. 1] value'= [4.8, 2]
class = Suny class = Cloudy
TR
2100~ =50 E00-21 FD0: T500-2100 =405
AR

== [m

T6:00-21:00 = 15.0
gini =05

samples = 6
volua =1, 4. 1]
class = Cloudy

¥
gml nazs 3

v 2
class = Claudy |
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FOMER., FHBEIXTEOL D I -7,

OBBICL 298 -FET -2 TUKE

#

ful

&

W R RER RER O BRR PR REER
0.32692308 0.38461538 0.42307692 0.40384615 0.48076923 0.42307692
0.26086957 0.30434783 0.2826087 0.32608696 0.32608696 0.36956522

0.47826087 0.47826087 0.47826087 0.58695652 0.60869565 0.56521739

QFAICL 24 - 2BAT — 2 FHARE

#

l

&

WFERR RER S RER O BRR PRER REER
0.38461538 0.48076923 0.53846154 0.51923077 0.46153846 0.55769231
0.34615385 0.44230769 0.42307692 0.42307692 0.34615385 0.48076923

0.55769231 0.55769231 0.61538462 0.67307692 0.65384615 0.69230769

OEBICK2DE-TXNRT —XFARE

&

i

23

W kR REER RER O BRR PR REER
0.16666667 0.33333333 0.16666667 0.16666667 0.16666667 0.16666667
0.08333333 0.08333333 0.08333333 0.08333333 0.33333333 0.08333333

0.08333333 0.08333333 0.25 0.08333333 0.08333333 0.08333333

QORRUCL 2DFE-TXMNART —XFARE

&

i

&

s R RER  BRER PR REEER
0.33333333 0.16666667 0.16666667 0.16666667 0.16666667 0.33333333
0.5 0.33333333 0 0.16666667 0.33333333 0.33333333

0.16666667 0.16666667 0 0 0 0.16666667
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https://free.kikagaku.ai/tutorial/basic_of machine_learning/learn/machine learning hyperparameters
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https://www.jreast.co.jp/
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